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Translate into English.

TIV ATIHITPO ot enaeen UM TEPX ETVaXl.
EOIOOEE § . i AV G1TOS.
BUYOTEPO & .. VepTEPCOV Beos.
QY OVOKTOUOK § .. Tous avbpcaTrous.
ETTOUGOY O unTpeos Siaev.

Answer one question.
(i) Impression ex 10

(ii) Impression ex 10

Translate into English.

TTEOUNOEUS,  IOTTETOU w.voeoee et Aos kAeYos.
S & e Kaukaow Opet.
KO EKE e ap1buov SieTeAece:
KOO EKOOTIIV. ... HTaP VUKTOS.
TEAOS OB ..o EAUCEV OUTOV.

Answer one question.
(i) Impression ex 10

(ii)Impression ex 10
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3. Translate into English. [80]

HEYTIOTOS OF ovorerveveeiesereseesesessesssessssssssssssessessessssssssnsssessessessessens Kol avBpcdTeov. 12

HETO G e ovopaTt OAUuTOU. 12

KO Ol et HOVOS KPIVEL. 12

TOD B8 oot TOUS QUOPTOVOVTAS 6

KO OPVLS ..ottt e e 0 AsTOS 6

SUO & oo s Bohaoons. 13

THRO S e fuyoaTne avThs: 12

EK YO+ eeee e kedoAns exPorivel. 7

4. Answer any six questions. (6x13)+2=[80]

(@)= (f): 13 each

(g) — (h): (9+4) each

(a)  Twelve labours. To become immortal.
(b)  To bring the lion of Nemea (the Nemean lion).
(c)  Shoots an arrow. The lion is unwounded.
(d) Chases the lion into a cave (which has two entrances). It stays there.
(e)  He blocks up one entrance, enters through the other, and strangles the lion.
()  Afraid, he is unwilling to see the lion.
(g) Tlubias, Beol, AéovTos, omnAaiou.
(h)  unTNp, TOAIS.
5. Translate into Greek. [80]

Five sentences (5 x 16).

6. Answer one question. [30]
(a) 10+ 10+ 10. Up to 4 marks to be deducted for omission of required item.

(b) 10+ 10+ 10.



7.

Answer one question.
(a) (4+4+4)+18.

(b) 10+ 10 + 10.

[30]






